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Zadatak 6.47
q Zadano: g, [, F=ql.
VYVVVVVVVVVVY Rjesene:
c Tp . 1 3
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S 4 b 12, M, (x,) = —>ql*, M, = -2qI°
G Xm = ] y(xm)——gq ] c =449,
<— / / | —> | 3
My =-—ql*, (M), =-=4ql*,
R B 2q ( D)L 2q
§ (04,), =", 01,), =L
pla =9t >\Mp)p =—74
Zadatak 6.48
q a Zadano: ¢ =2 kN/ma =3 m.
222222222 RieSenie:
< jeSenje:
Ao A C D

FA :qa:6kN9FBH =C]Cl=6kN,FBV :O,
s (M), =9KkN-m, (M), =—18KkN-m,

\Y% q
(MC)D = (MC)L +(Mc)d =—-9kN-m,
O H B E‘ MD:_9kN.m’MA:MB:ME:0.

Zadatak 6.49
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ITTTTTTIITIT" Zadano: g, a, M == e’
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YA Xy = ald, My(xm)— 3 My =M.=0,
3 3
M, = —Eqaz, M, = anz
Zadatak 6.50
a Zadano: g, a, F = qa, M =2qa".
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Rjesenje:
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FAH :FAV =qa, MA :Eqaz’MC :Eqaz’

3 1
(MB)LZEqaz’(MB)D:(MB)L_M =—5qaz,

MD :qaza MEZO.



